1. [bookmark: _GoBack]    Ответ: На 19 
2.     2,3,1,5,4,6,9,8,7										 
3.   1) 15*0,2=3 га									                            	          2)  15+3=18  -  36%									                         3)  18/18=1 га  - 2%								                                           4)  100/2=50%									                                      5)  1*50=50 %										                 Ответ:  50 га
4.                            
5. Ответ:  21 по 7м        и     4 по 5м	
6. Ответ:  4
7. Ответ:  8
8. Ответ: 6/7 больше чем 14/19  больше,  чем 5/7 	
9. Ответ: нет

 	           
  
